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Correct Marks : 1 Wrong Marks : 0

If 2log5+ %log‘} — log3 =logx, then the value of x 1s ?

g21.digialm.com/CAE/viewHtmIPDFAction.action

2 log5 +%1Dg9 —log3 =logx evawd, x Dewd?

Options :

% 42

oy,
4, % 24

Question Number : 2 Question Id : 4796971512 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

V21952 + /2025 =

Options :

. d0d
. %

172

2. %

o0
N

Question Number : 3 Question Id : 4796971513 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a, b, c elements are in geometric progression. then loga ,loghb,logc
will be in

a,b,c D Hresren (Hesdes” &ofl, loga ,logh,logc en e5°
E:0COD.

Options :

https://g21.digialm.com/CAE/viewHtmIPDFAction.action

2/85



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action
arithmetic progression
eos 3

1. ¢

geometric progression
(hes 3&

harmonic progression
o) S 3G

arithmetic geometric progression
4« @08e 3&

Question Number : 4 Question Id : 4796971514 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following expressions, the one that 1s a polynomial

808 DAT0E00ES°, DO LTVDA?
Options :

1
X+ =
], % *

2.¥

Vx + x?

3. %

o x BETRERF

Question Number : 5 Question Id : 4796971515 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfA:B:C =2:3:4,then find the value of g:

o |
A
I

AeB:C=2:3 A mo0nd —1—:

W
oy |t

| oy
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Options :

24:8:9

1. %

9:24:8

2. %

8:9:24
3.9

Lu 2:8:24

Question Number : 6 Question Id : 4796971516 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Calculate the compound interest on X 1000 for a period of one year at the
rate 10% per annum, if mterest 1s compounded quarterly?

X 1000 %0 205yomd3 10% 7o 5S¢ Gew SEDYO BP0 ™ S¢
S8 DEAD 208 oD T0erS oDy DG S0 &1?

Options :

8

1. %
, « 10

12

H
N

4.

Question Number : 7 Question Id : 4796971517 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Calculate the compound interest on X 1000 for a period of one year at the
rate 10% per annum, 1f mterest 1s compounded quarterly?

31000 &0 10% F°do ¢ 56 (0 S0 B ™ DS SE
E.’J%S@KJ 28 WoDHNG sPerDS @d335 cﬁgsﬁc% &0 a?
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Options :

. 10181

. 310281

., 310381

L« 310418

Question Number : 8 Question Id : 4796971518 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the price of a book mcluding 10% G.S.T. 1s X 880, then the original
price of the book without G.S.T. 1s
28 YRS BE), &6 10% GS.T. & €8 X 880 wond, GS.T.
SO0 €2 3NEAD e B3

Options :

X968

1. ®

L« X792

s« 3960

X800
o

4. %

Question Number : 9 Question Id : 4796971519 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A(2,3)and B(4,5) are the end points of a straight line 4B, then the
slope of straight line 4B 1s

208 B2 Do) FO H0BATL VD DocdHen A(2,3) Hodakw
B(4,5) @008, 80 AB oven =

Options :
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1
1.9

0
2. %

-
3.8 £
4. % -

Question Number : 10 Question Id : 4796971520 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a triangle, if the three angles are in the ratio of 2 : 5 : 8, then the values
of those three angles are

w8 Qw0 dured Eadwen 2 15 1 8 IJPAS” adyond, e
D222065° e Eeacine Dendewn

Options :

24°,90°, 66°
,w 96°,40°, 44°

24°, 60°, 96°

3.¢

60", 90°, 30°

Question Number : 11 Question Id : 4796971521 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1

; S T

2+—1
By

Options :
159
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157
) % 42
147
3 % 39
151
4. ® 42

Question Number : 12 Question Id : 4796971522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The area of the rectangular park whose length 1s 7 meters more than its
breadth 1s 260 sq meters. For fencing the entire boundary of the park if

%9900 1s spent, then the cost of fencing per meter 1s (in )

D0y Eof3 7 . NEURS P =1 &) ég SSOEISS éﬂtbb
as). DFeo 260 5.0, e3 awzbzr Sltyab Dot PO Sod
S0 oo 9900 DBy WOVIDED, DB DOBL Sod
D003 ey pAN (ko)

Options :

. 165
, % 160

150

3.¢¥

r—'
N
h

Question Number : 13 Question Id : 4796971523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the pair of triangles that are NOT similar.

£0& o5, DEraren T Gaere) 2D (DYoo
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Options :

.1 P
70 Flil
50 50¢
® B L2 0 :
A P
o B 4 c o 4.5 R
A P
B 4 C 0 g R
3. %
A
2.5
5 B
4. % B 4 c Q 8 :

Question Number : 14 Question Id : 4796971524 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

sin210°. cos 240° .tan 150° =

1.

2.

Options :

=1

| & 4--".;"5
1

2% 23
-1

3 % 2-&;’?
1

4% 4-5.,-'?

Question Number : 15 Question Id : 4796971525 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Find the volume of the cuboid of length 1s 12 cm, breadth 1s 8 cm and
height is 10 cm? (in cubic cm)

12 200.50. FE. 8 2o.aD. D0y, 10 o.aDd. o T (o Y D035
G308, HOVDBATEI0 Doth (L0.20.0.0¢5°)?

Options :

120

1. %

960

2.¥

480

3. %

80

4. %

Question Number : 16 Question Id : 4796971526 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

vVsin*x + 4cos2x —+costx+ 4sin2x =

Options :
sin 2x

1. %
, % COS4x

, o COS 2x

4 % Sindx

Question Number : 17 Question Id : 4796971527 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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How many spherical balls can be made out of a solid cube of an iron
whose edge measures 44 cm and each ball being 4 cm in diameter.

(take m = %)

44 230.0. D230 SO Ko 208 QAN D DOV 4 Do..
méao:)‘ls%:; N ) oS0 L0k SN DHENR0?
(7 = = ™ BBE )

Options :

NEA

5241

2. %

b
-2
N
(S
Y

3.

tad
N
p—
=

4, %

Question Number : 18 Question Id : 4796971528 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Read the following pictograph table.
€06 DB DG DAE W BESDoC.

Name of the city | Number of  school | Picture

D&E0 Foled! teachers representation
FOTO  GITEOSDL | DOETD FAIo
:-’ao:p?g

Hyderabad 4200 N Y \_

P 2222222

Delh1 2400 |

ad :

Chennai 3000 4 '

e 22244

Among the following, the correct picture representation of number of

school teachers i Delhi 1s

$oOIRES’, & S°D BTV SPTRYARNY VoI DFD Do Kot

o
Options :

2223
. RRRI8R

o ARRRRARA

o ARARAR

Question Number : 19 Question Id : 4796971529 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Let E denote the complementary event of E
If P(E) == then P(E)=

E @ng), Q68 200380 E 2rdnesaSosw.
1

P(E) = —; e0aws, P(E) =

Options :
12
1.v 13

13

Question Number : 20 Question Id : 4796971530 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If two six-sided similar dice are rolled, then the probability that the sum
of the numbers on the two dice 1s not equal to 7 1s

€385 08770 (302 Botd 28GR FDELR 280 SN T
(i Doage) Ao 7 & DBTPN0 SEOT® S0l LVEID ESELa

Options :
1

1.% 6

o =~

o | o
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5
4 % 36
Physical Science
Section Id : 479697122
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697132
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 4796971531 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A force acting on an object of mass 500 g changes its velocity from 200
cny/s to 0.2 m/s. The change in momentum

500 Tp. 55073 (10 S0 P DIBVD Lo B Jredy 200
20.20./2. 208 0.2 0./, SPBYDRDE G55 Dtfoes™D ATty

Options :
increases by 0.90 kg m/s

0.90 kg m/s 2808008,

decreases by 90 kg m/s
90 kg /s Sthredood.

increases by 90 kg m/s

; » 90 kg ny/s D00,

decreases by 0.90 kg m/s

0.90 kg m/s SHA00.

4.9
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Question Number : 22 Question Id : 4796971532 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A displacement-time graph shown below represents

S0 DS gv:@c%m — SPRAL TP B LFDRVoA.

s{m)

*> t(s)
Options :
Object with uniform positive velocity

DR dog), B S S Dridw

Object at rest
QTP ) I admdad)
2. e

Object with uniform acceleration

| DR g, DSOS BcSra

Object at origin

2P0 DG DR
4. % R

Question Number : 23 Question Id : 4796971533 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person can hear a sound of frequency

208 518 DIADAD By P1=D0

Options :

1.331HZ
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, » 1000 Hz

_ 200KHz

3.

SMHz

4, % 7

Question Number : 24 Question Id : 4796971534 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?
£08 oIS’ HOGHH TSR AD?
(1)  Velocity of sound waves is greater in solids than liquids.

& B6oTPL Drfo FPOS” S0 LD DEPTRS” DD

(11)  Velocity of sound waves in vacuum is 330 m/s.
Boy0eS” & Sdorre Drio 330m/s

(1) Sound waves are longitudinal waves.

{633) eSSorre @@@35 eSSorreD.

(1v)  Velocity of sound waves in vacuum is zero.
Bo50eS” & Borre Dtfo RO .

Options :

L D& W)
(@), (i) & (i)
(@), GiD) & ()

4 (D), (111) & (1v)

Question Number : 25 Question Id : 4796971535 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which planet’s rotation is different from the earth’s rotation?

D ro A3 Faneao B PErdS D) o &otod?
Options :

Mercury
1. % A ablab!

Venus
v BOHED

Mars
5 % 0TRSO

Jupiter
ODED
4. %

Question Number : 26 Question Id : 4796971536 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Bohr model, the maximum number of electrons occupying
M-shell will be

£5°6 DBATED DATFT® PS°Go, M-85(e5° SOA ol (1833 dUTeRVO

"’raoa::é

Options :

1% 0

sv 18

Question Number : 27 Question Id : 4796971537 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following 1s a set of homogeneous mixtures?

$o0s ADRIAD TBS” DD werdah BT PAA?

(1) Amr ™
(1)  Mist D300
(111)  Sugar solution 35),6 gredeso
(iv) Milk aPe

Options :
(1) & (11)

L (i) & (i)
) & i)

o (i) & ({V)

Question Number : 28 Question Id : 4796971538 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In any electrical circuit, the direction of flow of current 1s

D DA HO0HS DT, DS V> O3
Options :
same as that of the flow of electrons.

ORIV YT BFS E0t0d.
1. % =

opposite to the flow of electrons.

DTV DI HBBEOTT Eo0tod.
2.¢ i

parallel to the flow of electrons.

DOV PaTPIEIS VOPoBGOTT €E08000.

3. %
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stationary

e HS0
4.% @

Question Number : 29 Question Id : 4796971539 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following:
S0 TP 2e9DG0G.

1. Quantum theory A. Niels Bohr
s°(oto ?atg’oéo bﬁb e5°6
2. Stationary orbits B. Max Plank
6 S50 S5y Jros
& o
3. Quantum mechanical model of an atom C. Wolfgang Pauli
SoC00 ASBITT® 9B DAL
N D &5y rejoh
4. No two electrons have same set of four D. Erwin Schoedinger
quantum numbers QB $ED 56
D B0C JVTTRVL T°ROMD S0 VOERD
2,800 &ociad)
Options :

- i-A.2-€.3-8B.4-D

Question Number : 30 Question Id : 4796971540 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If a solid cube of 7 kg having an edge of length 10 cm floats in water,

then the volume of the cube outside of the water 1s (let the density of the
water 1000 kg/m?>.)

10 200.80. e90es0 EFEY (o) 28 7 S.7pA00 200 DBS” Benetdd) &.
2080% D& Jogded 1000 kg/m’ 9005, DD 22058 DY) 20

DS 0

Options :
100 cm®
1. ®

, » 300 cm®

, » 400 cm’

, % 100 cny’

Biological Science

Section Id : 479697123
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697133
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 4796971541 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This vitamin 1s essential for the health of eye

Eotd esBTRIDS 9DVERD DD

Options :

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 19/85
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- Vitamin — A DL - A
, » Vitamin - B Do — B
. Vitamin — C DD — C
- Vitamin — D DD — D

Question Number : 32 Question Id : 4796971542 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the process of food preservation. the main purpose of refrigerating
food is
G0 Do B P’ 5% DR BRRTLGS” éacto ABvE),
308 D30

Options :

To slow down the growth of microorganisms.

RSB 9B D0SAITPI/ DRSS
1.V = 4

To kill virus.
DB VR BoHTIS.

2. %

To remove moisture from food items.
55755 ‘bmﬂ‘gvu Aod A0 Feofodtea.

3. %

To make 1t taste better.
SOVESorT mcil)c:vbé.

4. %

Question Number : 33 Question Id : 4796971543 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Identify the CORRECT sequence of subphases given below in the
prophase of Meosis — 1

£.050806e Dzsaad — 1 65° DG 3365”2600 30 DED 00D
mgoﬂ’)o&.

Options :

Zygotene — Leptotene — Pachytene —Diplotene —
Diakinesis

BEOS - STAS - A - ATOS — CAIPFHDD

1. ®

Leptotene —Zygotene — Pachytene —Diplotene —
Diakinesis
6&2‘9% — ZHOD - ;3OS — &?@5 — EAIPSODD

2.¥

Diplotene — Pachytene — Leptotene —Zygotene
—Diakinesis
ATOS - FEOS - TTOD —>BHOS — LoIPFIVD

Diakinesis —Diplotene— Pachytene — Zygotene —
Leptotene
EasPEH00 — ATBS - FIBS - BHBS -
SPES

€

4. %

Question Number : 34 Question Id : 4796971544 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Match the following characteristics with their respective animal Phyla

S0d v PO E.Jl-',’g 20630V VoerobHed 55%503 2EIDGS0C.

(1) | Pseudocoelom (a)| Echinodermata
Qs $BELT B0 NESL I
(11) | Complete metamerism (b)| Mollusca
P eryddao 000
(111)| Torsion (¢)| Nemathelminthes
e5°6S DAY 068D
(1v) | Marine animals with tube feet (d)| Annelida
Fe) dobd Dreeer) (é.nﬂsfﬁ_ ¢5) 0_de
EHAD DADED) 20ROV

Options :

_ =), ()~ @, (i)~ ©). (iv) - @

1.

(1= (d) . () - (b), (111) — (). (1v) - (c)

2.

_ =), )~ (a), (ur) — (c). ) - (d)

3.

(1) = (@), () = (c). (1) —(d), (1v)—(b)

4. %

Question Number : 35 Question Id : 4796971545 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In humans, the urea synthesis occurs in

BPDHHOS® LB Do BICHED 2EHHEAS.

Options :

Pancreas 200
1. - (]

Lunes Ex0e9eeD
2. % & =
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- [iver SPaIo0

Kidney Sorgdadotio

4, %

Question Number : 36 Question Id : 4796971546 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which deficiency in diet 1s responsible for accumulation of water 1n the
body?

D D588 550 DD $850e5° DD HHL Detrod?

Options :
Proteins

T
1. ¢ ©
Fats
gacen
2. ® V@S
Vitamins
- DR

Minerals

DDBOISETRD
4, %

Question Number : 37 Question Id : 4796971547 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
When energy flows from one trophic level to the other, then its quantity

208 g Fraw Bod TS PE Frowd 3§ PO JD ¥8
HBAFE30

Options :

decreases e‘.‘é%b&)mf)

1. ¢
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increases DEAERE
2. %

does not change AN Socicdd
3. %

becomes zero %\J'a‘azso 29 )RV0A.
4, %

Question Number : 38 Question Id : 4796971548 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the ecological pyramid which 1s generally inverted in a marine
ecosystem 1s

FTPEEIOTT DADE 8553 ;55;5:{%)3&‘36 SotTT Gols ETPHGE
DEE X1 HBotSodt.

Options :
energy CE
1. % . -
numbers Doadg
2. %
biomass RSG50
3.¢
forests e9¢ted)e
4. %

Question Number : 39 Question Id : 4796971549 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Removal of toxic heavy metals from contaminated soils by using fungi
is known as

2Domresy &HA3rAed) Sened Dew od DA 206 S oD
Foflotedy e H§OTBFD.

Options :
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Biocontrol £35S 0eS"eS

1. %

~ Phytoremediation 365°320Ad0KS

2. %

Biodegradation a3 r&3E00

3. %

Mycoremediation RoEBTDEHOD

4.9

Question Number : 40 Question Id : 4796971550 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s an abiotic component of an ecosystem?

S0BTS° 3563 q::g@‘ DB 000G A& ?

Options :
Bacteria  e»S6a3»
] % =
_, Water Heo
Plants Zﬁngbw
3. %

. Humans SATPR )V

Geography
Section Id : 479697124
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697134
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4796971551 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

The oldest mountain range of India is

26eh Do e5°D YTResd DO Feaew

Options :

) The Himalayas aXPaIPe0) DE(TPeD
- Aravali mountains eITPOY DOTRD

. Vindhya mountains DoLFf DE(TEeD

L Western Ghats ?.’J%’b.:ﬁ) Eadaa0en

Question Number : 42 Question Id : 4796971552 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which Glacier, the river Brahmaputra is getting birth ?

QEFLDG DO 2B 30IVS0

Options :
- Manasa Sarovar AR50 DT DG
. Chema Yung Dung D asroh &oh
- Dibang &eoh
L Lohith S°

Question Number : 43 Question Id : 4796971553 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Arrange the following countries from east to west with their code
$08 BFOR Bty ol DEICL & £E& RPN
1) Austria 2) Spain 3) Ukrain  4) France
@503 ‘;:330335 &35 @55‘3

Options :
1. # 2 4! 3.. l

% 3,1,2,4
. x K13

3149
4.4

Question Number : 44 Question Id : 4796971554 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the time on Greenwich Meridian 1s 10.00 am., the time on 66° east
longitude 1s

BS 208A0HS 2 20030 eabo 10 (otren oD, 66°

S8y Barodo P vabo
Options :

- 5.36 am &.5.36 9.

2.24 pm 224D
2.
;% 424pm ;424D
L% 5.24 am S5

Question Number : 45 Question Id : 4796971555 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Radio waves transmitted from the earth are reflected back to the earth
from this layer of the atmosphere

& Trersom PES” 2D Do) PGS BAdIr SGorren B8H

HPDS DTCHEN0 BotLTPOW.
Options :
Exosphere J.)éeb 258630
1. %
Mesosphere I es56e0
2. %
Stratosphere ¢5° e8¢0
3% &
Thermosphere {;666&,‘ e9:58€30
4.«
History
Section Id : 479697125
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697135
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 4796971556 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The religion that 1s also called as the ‘Great Middle Path’ 1s
‘ﬁ"tb:) 306§ SAgo’ T ST 2e0IE Sdedo

Options :

Jamism
-, 8% 2o
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Hinduism

, % JPOl> ko

Islam

"Q.%”o
(1]

3. %

Buddhism
eF° %ﬁ %0

4.9

Question Number : 47 Question Id : 4796971557 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During the Mughals period, the land cultivated by Zamindars was called
as a

20070000 TP00e5 2T R odbor D) DD ZTPAVOD

D0 2HORTED?
Options :
Sarf-e-khas K‘.:SD-E;)-:;J“E)
1. ® )
Khudkhasht 208 2
2.
Zameen 2809
3. %
Banjar eo2d
4. % 3

Question Number : 48 Question Id : 4796971558 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Abdur Razzaq, the Persian traveller visited Vijayanagara during the
reign of

DYOBR AIPBED 9 Ge§ D Tz DOTVD TVHADD

203G ‘rbocﬁﬁ;oa&‘}.}.

Options :
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Bukka Raya-I 2OEED 22)8) TPA3LD

1. ®

, » Deva Raya-II Boctd BSTPa e

Sri Krishna Deva Raya @Sﬂ%{ BHTORD

3. %

. Sada Siva Raya RTPRD TroeD
4.

Question Number : 49 Question Id : 4796971559 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Kotilingala was the capital of this Mahajanapada

052D Horwes' DS, E6 Dorre TrRoEd HH3GoTr Soed

Options :

|« Avanti 29503

, » Magadha 006
Asmaka e_‘s;bég

3.V

L Panchala o)

Question Number : 50 Question Id : 4796971560 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the false statement related to the unification of Germany.

205}, DSEGEILL DoroBod) Q) T (DBotdolt.

Options :
Bismarck manipulated the content of the telegram sent
by the Prussian King.
DDABFD T DHDodD SIS S

235%5& TPEATE) DIPELD.
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Bismarck requested Nepoleon of France to remain
neutral during the Prussian war with Denmark.
aGb), & PRaIr Setbe R0ak0eS” DFY6)

AV OHD Ser00 T &0t Forcwd.

2.
The formation of Zollverein was the first step enrouted
to political unity and unification of Germany.
FGIOD FDD TS0 DEBD  0doID 26}
DEEBELH FO 'rdorr HJ BVob.
3. %
William-I was the first united German emperor.
A0GS Ddao DS 2EDS A0ESS BSEIB.
4. %
Political Science
Section Id : 479697126
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697136
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 4796971561 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

NDRF stands for
NDRF eocdre

Options :

National Disaster Response Force
1.

National Democratic Representive Forum
2. %
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L New Democracy Reforms Formulation

, » Nation department of Rural Fmance

Question Number : 52 Question Id : 4796971562 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following five year plan relates to the slogan “Banish
Poverty (Garibi Hatao)”

€065 DEYR) D DodDY HEPVE DEBE TP’ D Iecso DD

2023050V
Options :

L 43
) o B K
Ly 68 6 S
e 73

Question Number : 53 Question Id : 4796971563 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The first country that has given voting right to all the sections of the
people 1s

09y STO PRV Lew L) DD e Bdo
Options :
United States of America
0BS® Voaiwg Togew

1. %

Soviet Russia

} D*Da3$¢5 6&5

2.
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New Zealand

mée:’;e_nvcci
3. ¢

India
, E,J“Cﬁo‘_‘#c'f’a%c:

Question Number : 54 Question Id : 4796971564 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The constitutional article that deals with Right to Education is

& mw5oﬁ (Dlat=Te ) ‘3@52.% ‘t.i?éab’ 20 OSB3V,

Options :

L 2I-A
. 21-3
214
L% 22-A

Question Number : 55 Question Id : 4796971565 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main reason for America’s mterference mto the mternal affairs of
Libya 1s

DDA e90esies 10T RBS® &850 BRVE DTS TP S°6E0

Options :
Supporting the Gaddafi rule.
(T2 oD DG DScio

1. %

Suppression of rebels.
SEDMAETPLLTIPEIORD 9EaTICi0.

2. %
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Desire to control the large oil reserves.
DG 5306 JogORd JaboBoerernE deio.

3.¢

Stopping United Nations Organisation’s intervention.
DEFTR2] DI eSGSﬂzS.UJ DenHdBoticio.

4

Economics
Section Id : 479697127
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697137
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 4796971566 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following does not belong to public, social and personal
Services 1s

$08 IS Yoo, OB, HEGHSDDOL BosIB.

Options :
. Media D6 BEgreD
. Archives DTS BFraderen

Building construction companies

255 Jom 3 &odDew

3.¢

~ Museums :nbsﬁobow
4. %

Question Number : 57 Question Id : 4796971567 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The city in which the first cement factory was established in India 1s

28 B%0e5T DS HAoLD SO TRy .‘()Béoaé K80

Options :
_ Aurangabad LSorierd
1.
Chennai D
2. =)
Vishakapatnam Q?amé,);o
3. %
4 % Ludhiana eDAOIPD

Question Number : 58 Question Id : 4796971568 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

NABARD facilitates
NABARD &9 H6§D33000.

Options :

Formal credit organisations in rural India.
L TP 2°6e30e5° Dafreh a6 RoQew.

Formal credit organisations in urban India.
IR 2Se90e5° Dasded 20169 DoQeD.

2. %

Informal credit organisations in rural India.

TPE 2°6e50e5° 90K 200067 DoQeD.
3. %

Informal credit organisations in urban India.

D6 2°Ge3065° 003 220 DORLW.
48 ® =

Question Number : 59 Question Id : 4796971569 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following does not come under the four-fold classification
of factors of production in Economics?

$ob TBS” B 8S TRYo S &Y OV AL, TRVotV

;ﬁggam D085° DS Tokd.

Options :
- Land 235750
Labour svaés_‘w_u
2. %
) Capital PG00
3.
Goods SN
4.

Question Number : 60 Question Id : 4796971570 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the Consumer Price Index (CPI) primarily measure?
DA Lrd) (CPI) Hoedore DAY Eenipod?

Options :

Prices of goods at the wholesale level.
5°60 Frand” SRV GGeD.

1. #

Changes 1n the cost of living for consumers.
DABFEPER 25D HFO0S” BPEYRD.

National income of a country.
8 Do cIg) ZFAAD eTrao.

Interest rates set by the Reserve Bank of India.
8236 3508 €92> QA0S DFAWEDD HB¢ Be.
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Teaching Aptitude
Section Id : 479697128
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697138
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 4796971571 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
By which way students learn fast and maximum?

D DS Deegoen &80 M (1830 TP f}dabémémcb.
@ (] &

Options :

Seeing dordicio TP(OP
1. %

Reading 530D TPTP
2. %

Listening D0 SN,
3. %

Doing by themselves Rga3dorP 230308 oQo®
4.9

Question Number : 62 Question Id : 4796971572 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is the noble profession?

& $0OIS” D& Hdy 2,87

Options :

Medical écﬁigaﬁao
1. ®

Teaching aéwc:%mb 5D
2.
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_ Nursing Beiersd HBsien S A

Law Rjasd Y

4. %

Question Number : 63 Question Id : 4796971573 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is your attitude towards students with learning difficulties.

DENE DS Renotren DE g DY D P0B

Options :
Be strict. EBSore

1. %

- Being intolerant  e9R0Xdore

Be kind S0

3.¢¥

, » Being aggressive oo

Question Number : 64 Question Id : 4796971574 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
To reduce absenteeism 1 the class. the teacher

SEHD ($65° P20 e‘_‘ﬂﬁorﬁmﬁlé &Sﬂmﬁgmm

Options :
should punish the students.

bmsda&)m 32000
1. % A

should ignore absenteeism.

Aorastad &ndoed.

2. % BF
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should mform the parents.

S0 BDaHEEo.

3. %

should motivate the students.

Dy 06 £dPoSGo.
4.9

Question Number : 65 Question Id : 4796971575 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
While selecting learning experiences for curriculum development, the
most important factor to be considered 1s

#%QWE}SKD @@&‘J;,Q BOIDINED, 0ZTLRID 9:8023:30ee5° HIBHEdoc

DV OB HVDIDODE

Options :
Teacher’s interest. &a”q}"zstﬁbﬂ 0303,
1. %
. Learner’s interest. @ajb?sﬁagab 208
. Political interest. oredodd esdd
. Parental mterest. Do esdd
4.

Question Number : 66 Question Id : 4796971576 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer

Teaching is

e5°E35 9D

Options :
an art.
2.8 S%.

1. ®
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a science.

, x S Fo.

both an art and science.
28 S¥ 0800 TE.

3.¢¥

neither an art nor science.
28 S¥ 570, TR S,

4, %

Question Number : 67 Question Id : 4796971577 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Effective teaching results in

2208508200 57650 HQ

Options :
making students to learn and understand better.

Drggoen 3d;a§°;sao S08050 eFTP ebo DS S
| v BrEHH0s008.
enforced discipline.

S0E69 95000 b.

icrease in the teacher’s salary.

STRIOs0d Sdo S H)B.

scoring good marks in the examination.

H8E S o) S0 e o).

Question Number : 68 Question Id : 4796971578 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following statement 1s correct with regard to the relationship
between syllabus and curriculum?

DODREFRE (Deread), bmégmﬁé(gam&) 306§ ‘éaoa)oc;"ﬂ:)‘l

Aot WG TPEfo.

Options :
Curriculum 1s a part of syllabus.

| Demgoreds DRADDEFP VLS 2 0.
1.

Syllabus 1s a part of curriculum.

, DRODYETVS Dorporeds S’ tio.
2. %

Syllabus is an annexure to the curriculum.

DQODPEFPE ITPOETIE £ eeoio.

3. %

Curriculum 1s an annexure to the syllabus.

DIPFOEPPE DRODPEFYS £ vdeodso.
4, %

Question Number : 69 Question Id : 4796971579 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The education provided to children who are outside the school system 1s
known as

)& 22008 ol DO Desgad 90800 TR ;:15:3:5.

Options :
non formal education.

€9, 030D 3)635.
1.¢

formal education

. Dobs dasg.
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mformal education.

006G 3)635.

adult education.

SHO3TP2RD 3)::55.

4, %

Question Number : 70 Question Id : 4796971580 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher should be committed to

208 a&ngo:mm 8D e .beacgé £9A sord.

Options :
political ideology.

) PR 2P0,

the leamer.

@e;vgéaéxio.
2.

the fanuly.

s % 9980,

the government.

IS0,

4. %

Question Number : 71 Question Id : 4796971581 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Coordimated Development of Quality Teacher Education’ 1n the
country is the mandate of

‘BB0eS’ SRty &3“5)‘“50113 Desg B, RB0DHLAD @@:33%’ 08 3D

es3%o.

Options :
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. UGC
, » AICTE
. « NCERT

, » NCTE

Question Number : 72 Question Id : 4796971582 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The more appropriate evaluation procedure to evaluate a student at the
end of the year 1s

208 K)mv?gg.'i') Fbo&‘)e‘_‘bcio DDGD m@5og:}o Do Dd e_r.:e‘_‘g?soo‘_‘a A
h.lJ‘EJ“éoSé DED
(]

Options :
Formatic evaluation.

.i’)oﬂés';oe:‘aéé MWBOSQO.
1. %

Sumimative evaluation.

RAEFS) S QAPfoS0.

2. %

Diagnostic evaluation.

SO DTG Sarers08do.
3¢ 3

Test and retest method.
DL 08030 LHRWDBL DGD.

4. %

Question Number : 73 Question Id : 4796971583 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Excessive use of technology in teaching will make a learner

£5°¢3:9e5° JroSNLerAd D) ST EDATAOSE0 HOID 9ZTFOLD D

DSoTP BASTETED?

Options :

| Creative RYRTB) SO
rational SISO

2. % @

- robot B aare
alternative b@gh}o&cﬁmm

4. % e

Question Number : 74 Question Id : 4796971584 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Teaching 1s considered to be an effective process only it results in

achieving

& DB HY APGR BB/ DBGHBBLD HEAD TP HOHEIFCD.

Options :
securing good marks.

|k 000 B8 e Totdcio.

making the student discipline.

developing leadership qualities.

E“D&JS@S VEEPO Voododco.

3. %

Achieve conceptual clarity.

02D DN Totstio.
4.9 =
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Question Number : 75 Question Id : 4796971585 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the teaching results in realizing the intended learning out comes,

5650 &30DD e DTV FEY.
Options :
learner should be motivated.

, DTG 06 Totoeeed.

teaching should be effective.

5658 R20GDotho WA,

2.
teacher should be highly qualified.

. a@v;}véa‘.i;uc“a &S g SDH Sotrcd.

teacher should be away from his/her family.

aﬁwcﬂmm 09¢3) /es) £HeDoerE Grdo.

4. %

Question Number : 76 Question Id : 4796971586 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The best way to motivate students to learn 1s by:

Dez5Eren DENE DTS 00 268 HYo.

Options :
giving them frequent punishments.

- GO 2560 ‘3?3556.‘,0.

providing external rewards only.

ey eXIROSDERD AFGD RO(Co.

2. %

creating an engaging learning environment.

QA0 2PFROD TPBPOGEIDN Wya0tcco.

3.¢
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forcing them to memorize concepts.

2SS gocsigo DO errBoddo DaidEo.

4, %

Question Number : 77 Question Id : 4796971587 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The type of communication that the teacher has in the classroom is
termed as

SE6B (6S° SFTEOINIS PIPICE TP &oled.

Options :
Face to face communication.

% S0P eTPOVICE

Group communication.

o 806 POV,

Mass communication.

LITVOF 269 2RO,
3, # b

Inter-personal communication.

aﬁégoéﬁ 2PORGER.
4. %

Question Number : 78 Question Id : 4796971588 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If majority of students in your class are slow in learning, as a teacher

what will you do?

D SEADABS" L) D H00d Deejoen DAYAT e9zsdoB T3S, s

SPTRHOSOIT DD BAS?

Options :
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I teach as I teach

| R0 der OFPS, 0erd 5O .

1.

I teach as per the learner’s needs.

2SO 9BDVTOE 9AEITT &5 BF.
2.9

I teach as per the text book.

FEEDRS0 PSeGo 5 OF.

3. %

I teach as I was taught by my teacher.

0 56 L 5°B0DS Desorr e5°BIR.

4. %

Question Number : 79 Question Id : 4796971589 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a teaching-learning process, the role of a teacher in a classroom

5" CSTPerRgRocd HEITTBOTE, SEHANA &S° errriaind I

Options :
is chairperson.

@dﬁé)cﬁ).
F

1.
1S an umpire.

)« @G0T,

is a facilitator.

s D0BRE (RuvEBte BRTRD)

is one among them.

A0TT0eS” AT 28 25D

4, %
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Question Number : 80 Question Id : 4796971590 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The most important challenge for a teacher is

208 GITPHOIVED HEPDTP DEDB)D D20RY?

Options :
to make the students to do their home work.

o bmﬁsgavé Q080D Bootitio.

to make the teaching-learning process joyful.

L, B OTERiOD DD WFHECo Bobto.

to maintain discipline in the classroom.
S$66500S° S0 L e DBrotso.

3. %
to complete the syllabus.
RUSTAIARS) ot low tlate)
4. %
General English
Section Id : 479697129
Section Number : 9
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697139
Question Shuffling Allowed : Yes

Question Id : 4796971591 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (81 to 85)
Question Label : Comprehension
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Read the following passage and answer the questions:

Young children’s engagement with print and the importance of good
literature cannot be undermined. Children’s meanigful engagement with
reading can be initiated and strengthened by providing them with
opportunities to read books according to thewr age, context and interests.
When children enter school, a good collection of literature in their
classroom shall convey that reading 1s valued an essential component of
the process in the classroom. It should offer a space that is mviting and
engaging mto a world of interesting pictures, stories, books and other
reading material. For teachers a reading corner in the classroom gives a
platform where they can support and facilitate children to make meaning
while reading. Teachers can transform the physical space of the
classroom to create a conducive. lively and inviting space.

Sub questions

Question Number : 81 Question Id : 4796971592 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When children enter school,

Options :
| they must be given an opportunity to read books.

they must be given an opportunity to bunk the classes.
2. %

. they must be given an opportunity to use mobiles.

L they must be given an opportunity to play games only.

Question Number : 82 Question Id : 4796971593 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Find out the synonym of the word ‘conducive.

Options :
| » unfavourable

L w opposite
v favourable

unhelpful

4. %

Question Number : 83 Question Id : 4796971594 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teachers can make the classroom lively by mtroducing the students

Options :
| » toaworld of games.

. to a world of cinemas.

v to a world of interesting pictures and books.

L to a world of politics.

Question Number : 84 Question Id : 4796971595 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Children should be exposed to reading books

Options :
- according to their age and interest.
. irrespective of their age and interest.

- according to the interest of the teachers.
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of a higher standard.

Question Number : 85 Question Id : 4796971596 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage. which of the following makes an essential
component of classroom teaching?

Options :
| = wrifing

, . enjoying

, » reading

., listening

4

Sub-Section Number : 2
Sub-Section Id : 479697140
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 4796971597 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find out the antonym of the word ‘lively’

Options :
_ exciting
1. ® =

buoyant
2. %

5« Vvibrant

4 dull

Question Number : 87 Question Id : 4796971598 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Choose the correct verb form.

By the end of next year, I i this company for five years.

Options :

- shall have worked

) shall be worked

, » worked

, » amworking

Question Number : 88 Question Id : 4796971599 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable article if necessary.

Benerjee is honest man.
Options :
. % 4

, » an

, » the

, » hoarticle

Question Number : 89 Question Id : 4796971600 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with correct article:

“T saw eagle flying in the sky.”

Options :
1. % a

, » the
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; » Aan

, » hoarticle

Question Number : 90 Question Id : 4796971601 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct passive form of the given sentence:

‘Shut the door’
Options :

|« Let the door be shut.

Let us shut the door
2. %

. The door may be shut.

r You shut the door.

Question Number : 91 Question Id : 4796971602 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct reported speech for the following sentence:

He said to me, “how many brothers have you?’
Options :
| » He said how many brothers you had.

. He asked me how many brothers I had.
2. il

. He asked how many brothers did I have.

., He asked how many brothers I have had.

Question Number : 92 Question Id : 4796971603 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Choose the synonym of the word ‘fragile’

Options :
. sturdy

, % solid

v delicate

, » heavy

Question Number : 93 Question Id : 4796971604 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find out the appropriate antonym of the word, ‘callous’

Options :

v sensitive

, » Insensitive

, « careless

. cold-blooded

Question Number : 94 Question Id : 4796971605 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of homonyms.

Options :

| lugh, why

, » mine, thine

night, knight

3.¢

, » orght, shine
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Question Number : 95 Question Id : 4796971606 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence:

Options :

How long have you been working in this organisation?
1.V

When did you worked in this organisation?
2. %

How long are vou working in this organisation?
3. %

When you have worked this organisation?
4, %

Question Number : 96 Question Id : 4796971607 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill the blank with correct preposition.

He swam the river boldly.
Options :
| % over

, % On

3 ¥ aCross

, » I0to

Question Number : 97 Question Id : 4796971608 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The advocate asked Ram, ‘Can you give an example pertinent

the case?

Options :

- with
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~ for
2. %
, % on

to
4.

Question Number : 98 Question Id : 4796971609 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the wrongly spelt word.

Options :
rendezvous

rendezvous

genine
3.¢

courageous
4. %

Question Number : 99 Question Id : 4796971610 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ravi has hired a full-time nurse to his aged parents.

Options :

- look up

- look after

look out

. » look mto

Question Number : 100 Question Id : 4796971611 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sachin Tendulkar was the best batsman of Indian cricket team
many vears.

Options :
| % from
% SIce
, o for
4 % 1N
General Knowledge

Section Id : 479697130
Section Number : 10
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697141
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 4796971612 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Satish Dhawan Space Centre (SDSC) 1s located at

RBA TPOD 90308 Sogo (ID.E.ID.2.) DUED &dy HB%o

Options :
Thiruvananthapuram

| DIB0SENG0
Srihari Kota

508 )

2.¥
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Mehendragiri

L % Saroghod

Manali
S0

4. %

Question Number : 102 Question Id : 4796971613 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who 1s known as ‘Praja Kavi” (Peoples poet) of Telangana?

BoTre ‘HPED’ (&:;g_)o_'a'b P30S 2260 TPoDDA.

Options :
Kaloj1 Narayana Rao

=$°E Troraie T

1. ¢

C. Narayana Reddy

2. o036 O&
2. #® G

Dasarathi Krishnamacharyulu
TPB00 S)ReorTeddfen

3. %
Gorati Venkanna

5o8 Dosd)

4, %

Question Number : 103 Question Id : 4796971614 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Central Tribal University m Mulugu i1s named

Sentd &5° OO SoHod Az D Doegraizo & DED HE

Options :
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Komaram Bheem Tribal University

5080 D5 Ad2D D DTEgOai0

1. %

Telangana Central Tribal University

Beorres So80% ABd D Doegraido

2. %

Chakali Ailamma Central Tribal University

89 Doy, Sogab ABD DIDTjOC0

3. %

Sammakka Sarakka Central Tribal University

2:0) &) 6L BoHod ABD DI o
4{@&&7 ), So@ 2 (Reego0se

Question Number : 104 Question Id : 4796971615 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Nobel Prize i Physics 2024 was awarded jointly to
2024 B8 7R Seae5 LR Do030E0TP 288 TP

BDoeCod?

Options :
Victor Ambros and Gary Ruvkun

DES 908 HOBALN 50 B €O

Han Kang and Nihon Hidankyo
35S Soh 803 JFS oS EY

John J.Hopfield and Geoffery Hinton

L, 08 37D DY LB By 20D
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Daron Acevogulu and Simon Johnson

Co6S oA B0B0ID PEOD NS

4, %

Question Number : 105 Question Id : 4796971616 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Narmada Bachao Andolan aimed to oppose

dE o S 0208 W0 ADE bﬁ@fﬁéorw DB 20D ectobd?

Options :
Industrial Development.

BTG AN

1. ®

Large scale displacement of the local people.

IS pro DY oD Jovgasivws Sobo.

Loss of irrigated land.

e ZTed0en é‘es"b;@ea_

3. %

Excessive control of forest department on tribals.

B0 2> DT WAL 8BS0,

4, %

Question Number : 106 Question Id : 4796971617 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Asian Women’s Kabaddi Championship-2025 won by
2320 BTPFO Sedg TP 2D-2025 D

Options :

India
Qoco3®

1.¢
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Indonesia

QoE& 5209

Iran

L % WOP

China

DI

Question Number : 107 Question Id : 4796971618 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Union Council of Ministers 1s collectively responsible to

éog 20083 H00kd Doaingorr D508 2°e0TCOTP obtPdd?

Options :
President of India
2I°G¢% Trayaded

1. % e

Prime Minister

TP 2008
Lok Sabha

Lo 5528
Rajya Sabha

L or2y BT

Question Number : 108 Question Id : 4796971619 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The planet which 1s known as ‘Red Planet’

DB IR0 TP DeNHDLIGE 7o
Options :
Venus BOED
1. %
Jupiter 2ETRND
2. %

Satum )

Mars eOTPGEIED

4.

Question Number : 109 Question Id : 4796971620 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Study of weather and atmospheric conditions 1s called

TPTPI00 B0 025863 :35:3‘:89_} éd}e?é:n‘le_:sm P_oc,’:nzsotbéo Do

oo
Options :
Astronomy e2 PO
1. % &
- Meteorology 0eTPeE,
Climatology Saoreres
3. % =
Oceanology 0P,
4, %

Question Number : 110 Question Id : 4796971621 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The first Indian origin traveller to space

2908385065 DAITEIDD T edeh LoSB Ty

Options :

Rakesh Sharma

oS3 36}
1.+
Kalpana Chawla
Subm TPI°
2. % 2
Sunita Williams
L A0 K)E)o‘.’nf_ua

Vikram Sarabai

L % Do FTeerodd
Educational Issues

Section Id : 479697131
Section Number : 11
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 479697142
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 4796971622 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which article deals with the mother-tongue instruction at primary
school level?

DT FADE ,guomf Sty 2RSS DEgeS G & H800) Bedchddy
es0%e5
€
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Options :

Article 341
e30&e5 341
]

Article 370
e30&e5 370
)

Article 250A
@gsé 250A

Article 350A
@gsé 350A

Question Number : 112 Question Id : 4796971623 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Beti Bachao Beti Padhao Abhiyvaan’ was launched in the year

‘B8 werS BOHEST 9DAITS’ D VodeGBoeS” FBodotd Lxtod?

Options :

2014

1. %

Question Number : 113 Question Id : 4796971624 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The exclusive college of teacher education for tribal students in
Telangana is located at

S900 AB2D Dt:}uégje_:sj a@%o{)x} &Sﬂmﬁa‘b Doy ST Berorreaes”
&)Sard &oH?

Options :
Nagar Kurnool

056 écircleS

1. ®

Bodhan
85°65S

2. %

Bhadrachalam

- Sorddwo

Mulugu

4$3mae.urb

Question Number : 114 Question Id : 4796971625 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The national body which prescribes qualifications for school teachers in
the Republic of India.

FEF0 STRO30R GO DFFocd (fEactogh e 3505 20D
FOd) DoV
@ @

Options :

. UGC
, « CTE
. « NUEPA

, » NCTE
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Question Number : 115 Question Id : 4796971626 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Ek Bharat Shrestha Bharat’ 1s a government of India initiative to
26 PEBC0 FBoDoDD ‘DS PGS 33 PGS’ Ahg) &0

Options :
promote cultural connectivity among the states.
TP 068 P yBE DorroES PFéyirotitio.

L =

promote political connectivity among the states.

. TPl 306 TeS05 DoTraDES Pehirotsto.

promote economic connectivity among the states.
ToElP0 063 €988 Dorrahssn Feirotitio.

3. %

promote educational connectivity among the states.
TP 0685 DTf DoTraEdn Feyirotdtio.

4, %

Question Number : 116 Question Id : 4796971627 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
National curriculum framework 2005 1s meant for

2PAADH B DEFS DD D), 2005 BIS 2020G0DHE?

Options :
University Education

mn:;abeﬁ Dess

1. #

School Education.

ST Desg
w

2. w

Teacher Education.

- &aﬁmlgob Desg
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Technical Education.
roBNRE 3)655

Question Number : 117 Question Id : 4796971628 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Book ‘Democracy and Education’ authored by

‘BATED 9ol BN’ otd Sesodes
Options :
Russeau

S

John Dewey

- S cig00

J.S. Mill
L x BIOS

Question Number : 118 Question Id : 4796971629 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The “Nalanda University’ was founded during the regime of

DB reIse00eS” ‘Dot DB DTTg0R0’ gvbaﬁmoa'?

Options :
Kumara Gupta

ShebileNobre;
LY =

Skanda Gupta

. raarot:’:- m&.?

https://g21.digialm.com/CAE/viewHtmIPDFAction.action

67/85



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action

Harshavardhana

G038
LS~

3. %

Krishna Gupta
&30 (0D

4. %

Question Number : 119 Question Id : 4796971630 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How many languages are recognised under 8 schedule of the Indian
Constitution?

2B mwgoﬁoe‘s‘:) 85 ¢35 Socs (Dot e Dy ?
Options :

L= 21

22

2.7

I~
=

Question Number : 120 Question Id : 4796971631 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first exclusive university for teacher education was established in

E°ERHO5 DESFE SPGD EF oD JFDTTjooe A0y AT

QQ&C‘. @"doe:}ot:ﬁ 22CoB?

Options :

Hariyana

| % TP
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Madhya Pradesh
0655 HBT

2. ®

Kerala

Clo

3. %

Tamil Nadu
s v DY T

Question Number : 121 Question Id : 4796971632 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The university which telecasts mteractive educational programs through

its own channel in India 1s
2B E0SD 5}%5 DrgRaid0 DODNG DOSTYHY & DTg S0y

E300 B D0 TS TPIT PIPdo BPod?
Options :

B.R. Ambedkar Open University, Hyderabad

. i).@E.e_‘JoEﬁ{j&S g v DB Deeg0dd0, oeesorerd

University of Pune, Pune

CE0DBSOVS e0D 33763, e

2. %

Indira Gandhi National Open University, Delhi
Q0BT Dide5 L5 oﬁmb:;%es. )

3.¢¥

Annamalai University, Chidambaram

2920 308 AP DHONE, DeSoerdo
4, %

Question Number : 122 Question Id : 4796971633 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The chamrperson of NEP 2020 drafting committee

D2 2020 gry0h S B DOV
Options :

Prof. Yashpal
L Todbd 01339395

K. Kasturirangan

8 Q080085
2.¥ TR

Mrs. Smriti Irani
30D 2 Fo°D
3. % e

J.S. Rajput
L % B 00D TE DS

Question Number : 123 Question Id : 4796971634 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The NEP 2020 suggest foundational stage in school ladder for the
children i the age group of

o 503070y ST DYOL DORD-2020 TR naa;aesﬁ O S8
RO ARA RN TR

Options :

3 — 8 years 3-8 ‘&)obeﬁbmw
1. ¢

3 — 7 years G, ‘éao;ﬁejbmw
2. % B

3 — 6 years 3—0 }iao;ﬁe:‘shmw
3. %

. 3 —9 years 39 ‘éao;ﬁefebmw

4.
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Question Number : 124 Question Id : 4796971635 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The “Samagra Shiksha Abhiyan’ aims at
2300 3%, eDaIPS o), a0

Options :
Providing financial support to the children in
government schools.

DES FETL 05D DYOD eBE LGB
| % @obotdto.
Improving the quality of education and ensuring
inclusive education.
3_‘)(:55 aﬁngejm FebleblabReleinTal-Publolonth K}-&')Jéﬁ)e‘_‘é 3)::55&‘1)
ESQJ"G!)C&O

2.¥

Focusing on private schools and their expansion in rural
areas.

I FETOVL QS 33 DE 0D TP FroTPVD
, % DBoBer trcicio.

Improving the pay-scale of teachers.

&S“c_:ﬁscm)e_: Px BTV O DEIEo.

Question Number : 125 Question Id : 4796971636 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The committee recommended to reduce the weight of a school bag was
headed by

)& &5 208> BAoRY DA 2 DoHAED LD ERVRE 393;9350

HTPo)DE

Options :
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Prof. Mukhopadyay
. ISR LA (en

Prof. J. S. Rajput
- Tb 8 DD ood S

Prof. Yashpal
L F0d ATy

Prof. Veda Prakash
L T8 Do g
4.

Question Number : 126 Question Id : 4796971637 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The UNO adopted the Sustainable Development Goals (SDG’s) one of
which aims at quality education?

DETRe] DB eDPHODD ‘PTG VF(RD’ &” $od TIS° A0

aﬂm&@&‘a K}Cﬁéa‘)} e_}igc_i_)::o&?
Options :

SDG-1

1. ®

Question Number : 127 Question Id : 4796971638 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Truth. Peace and Non-violence’ come under

S0, Feod OO 920 9D
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Options :
Universal values

FE(BE Dewnden
1Lv

Individual values

:bgériefs QeHen
2. % =

Relative values

L x DL Deoden

Economic values

0208 DesdHen
4.% @

Question Number : 128 Question Id : 4796971639 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Whose philosophy is the basis for Socially Useful Productive

Work (SUPW)
DB TS ‘FATPREOT GHBRASEROD STYBE 0D

(;)i:).ciin.i:}.c‘.egaé.) £ )d 90008?

Options :

| % Aurobindo 05D0S

. Rabindranath Tagore orDoGTed Torird
. Jiddu Krishna Murthy ¢ Sy53 5058
L M.K. Gandlu 20.8. TProd.

Question Number : 129 Question Id : 4796971640 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g21.digialm.com/CAE/viewHtmIPDFAction.action

73/85



6/3/25, 12:41 PM

g21.digialm.com/CAE/viewHtmIPDFAction.action

The committee constituted by government of India to review and
propose reforms for teacher education was headed by

€:PTI05 DD 203,00 2000, £ ROt P68 DS 0

DoBH0DD SBS Desytico H0DIO S?

Options :
Justice Jagdish Singh

. eafgi: 26885 2oh

Justice J.S. Varma

P i T 56
2. 8

Justice D.Y. Chandra Chud

2R G.D. Bo BTG

3. %

Justice Krishna Iyer

20 S0 ais6

4. %

Question Number : 130 Question Id : 4796971641 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

NEP 2020 recommends the introduction of vocational education from

D5RD-2020 HY Desgr D 5% H0& HOIADO BT N

DB,
Options :

Foundational stage.
1. %

Preparatory stage.
2. %

Middle stage.
3.¢

L w Secondary stage.
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

g21.digialm.com/CAE/viewHtmIPDFAction.action

Computer Awareness

479697132
12

Online
Mandatory
20

20

20

0

1
479697143
Yes

Question Number : 131 Question Id : 4796971642 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of memory is non-volatile and retains data even when the
computer is turned off, making it essential for storing firmware and

booting instructions?

Sorwd D ed BIYDD Ly Ser, DO DO dasn eawrddohd
AR ] EotstrdS D 0D - T0BS @ HeoFw?

Options :

. RAM

7 o ROM
. « CACHE

, » Register

Question Number : 132 Question Id : 4796971643 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The smallest unit of data in computer is

SoRrgrd &° Gew dng) evdigern B0

Options :
| » Bit
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, « Byte

. » Nibble

KB

4. %

Question Number : 133 Question Id : 4796971644 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an operating system?
& 208 S’ e200B0h VYo IS AB?

Options :

Microsoft windows
2 DH o5
® e (5]

1.

Apple MacOS
- @sDS JPYS LoD

Linux

L gﬁ‘)gb

Microsoft Azure
DE F e0erB

4.

Question Number : 134 Question Id : 4796971645 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ascending order of memory sizes
2200 HATEAVY 3837 S0

Options :

., KBMBGBTB
.. TBGBMBKB

.« GBKBPBTB
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, » KBGBTBMB

Question Number : 135 Question Id : 4796971646 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

1. ®

2.

3.

4.

Question Number : 136 Question Id : 4796971647 Question Type : MCQ Option Shuffling : Yes Display

®

\;/

®

Network database
2e5 :._‘)525 ReEI0

Relational database
BTN @eeedd

Hierarchical database

gm&zjéaﬁ RePE30

Distributed database
éf'gmgﬁ& ot TR

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

.. COBOL

, » HIML

3. %

Assembly

, » FORTRAN

https://g21.digialm.com/CAE/viewHtmIPDFAction.action
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Which of the following type of databases, data 1s organised in a tree
like structure?

$o0 DE) D) Gt 8D 0S° O JyEED & WBNXDBE?

Which programming language is used for web development?
D rro erotic D De5 DB 8 EDAATAFE?
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Question Number : 137 Question Id : 4796971648 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
MS-Power Point is a :
MS 056 aroakd eosndd a8 .
Options :
O'pEl'E]TiIlg system
. 22008 0h fo‘{go

System software

D0 o) D6
2. & (]

Application software

0BERS 1 D6

3.¢

Utility software
QBB Frgy Db

Question Number : 138 Question Id : 4796971649 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel includes built-in functions to perform calculations. Which of
the following functions calculates the mean of numeric values entered
into a range of cells?

MS-Excel &° &) en dasedd ©08) B DoLdy & ow. ol
CANY TS 2B © 363 S DA DD Vo & Dende) DAV

ejéboé DoLD 87

Options :
=SUM( )
1. ®
. “MEAN()
3. % :ADD( )
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_ =AVERAGE()

4.

Question Number : 139 Question Id : 4796971650 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which short key 1s used to open a new document in Microsoft Word?
E F D6 &S° § w00t & £ BEEIE &DWBrNoS ard

a?
Options :

, o Ctil+N
. Ctul+P

,u Cul+0

Question Number : 140 Question Id : 4796971651 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which component of the MS-Excel window is used to display the
contents of the active cell. including text, numbers, and formulae entered
by the user?

MS-Excel Do&e5® atarad dotrd B2 9359, Doeath LoBAkw @“ﬁ_)&”&)"w
Sotd Sasre 2065 ABoog), VAFTSo @ 2fio 5° ir0ts exceRI0S?

Options :

Title Bar
., 58S e

Formula Bar
. o o8

Menu Bar
| DA ed
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Task Pane
e:roinb e6
4 %

Question Number : 141 Question Id : 4796971652 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following file formats 1s used to save a Microsoft Word
document?

$o8d ToOS" DB EF gy D6 T D 2D DD
EOBTAFE?

Options :

|« -docx

, « ‘PPIX

5 » XIsx

4 % CXE

Question Number : 142 Question Id : 4796971653 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How can add the effects to text, pictures, shapes and other objects in
power point presentation?
056 Fraot] HBoSND &° 935.9, DEPeD, esSToRD SO0 RS Pﬂfgga
© abbés D e &'dod SedN?

Options :

Orientation pane
. 5,00300600 DD

Graphics pane

L THE) DS

https://g21.digialm.com/CAE/viewHtmIPDFAction.action 80/85



6/3/25, 12:41 PM g21.digialm.com/CAE/viewHtmIPDFAction.action
-
3D pane
5
L BA DS

3.

Animation Pane
o <
4 v Q3PN DO

Question Number : 143 Question Id : 4796971654 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The option from clipboard that is used to move data from one place to
another place m a document 1s

e R0t &° G X0 208 PB¥o ol WS VIT IS $6DocsTIS
82 e5°0 D e EDA DEDEAD?

Options :
Copy & paste
T & DO
1 % e
Bold
£5°¢5
2% G
Cut & paste
€65 & DR
3.¢ =
Justify
2ada)
4, % R

Question Number : 144 Question Id : 4796971655 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is a search engine?

208 THS° VO 26N Rozo?
Options :

v Bing
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, « Excel

, » PowerPont

, = Word

Question Number : 145 Question Id : 4796971656 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Transition in power point 1s

D56 Jrawoth &° EPINID e :
Options :

A visual effect between slides.
:';J& D) E‘.DC%S DesHed Qﬁj‘bg‘b

1. ¢

A background color.

&S ol g0b

A way to print the slides.
DG LR Potd abTedS w8 Srgo

A type of font style.
208 Pt %395

Question Number : 146 Question Id : 4796971657 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of machime learning?
308 T°HS° VB NS S8y ofh o), 2,8 BEAD?

Options :
Structured learning

‘S%Q e:faoloﬁ

1. ® =
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Unsupervised learing

05 mbgséé 9369‘05

2.¥

Compiled learning
So?._._)é 935&05

3. %

Pattern learning
5.1”59.359‘ 65&05

4.%

Question Number : 147 Question Id : 4796971658 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a malware?

808 T°DS° ArS D6 IRH?
Options :

| x VIIUS

, » Worm

Trojan
. .

Notepad.exe
4.9

Question Number : 148 Question Id : 4796971659 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT an application of Artificial Intelligence ?

808 OS5’ B Zlererseuil) @o@ﬁ)&.%b GIg) HEND TW?
Options :

Chatbots
1. %

- Self-driving cars
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. Voice Assistants

DBMS

4.9

Question Number : 149 Question Id : 4796971660 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the purpose of Machine learning?
20N S 5‘105 OB.DEZT a@%m DE?
Options :

Manually coding each task.
D DI g0 e Edoh.

Analysing data and making decisions.
Gtz DFEI OGOKD AGADAVR BedCLo.

2.¥

Storing large amounts of information
e9QE DATTPEADAD .3)9_:5 &oticio.

Retrieving large amounts of information.
9HE DATTPEADA DBAH Todco.

Question Number : 150 Question Id : 4796971661 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which printer uses toner powder to print?
85°:06 DPeid 2 &DATTACD NG B otdd VB?

Options :

Dot Matrix Printer
w8 SrOSy Doed

1. ®

Laser Printer

S8 otrb
2.9
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Inkjet Printer

s % Q0L B Pod

Thermal Printer
Gﬁﬁées @0@5
4. %
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